STUDENT GOVERNMENT BUDGET COMMITTEE SEMESTER ALLOCATION REQUEST FORM

Allocated: \$ 1915.37

Approved: yes or no

Organization requesting funds: Entrepreneurship Club

Contact person name: Nick Haring

PSU Email: nph5065@psu.edu

Phone: 484-221-3097

Club Advisor name: Sadan Kulturel

PSU Email: sadan@psu.edu

Phone: 610-396-6137

Date budget submitted: 10/30/1

X Mille Halan

Club President Signed Name

X Jadas Kullul

Advisor Signed Name

Smalld /

STEPS FOR BUDGET REQUEST

- 1. On the next page, copy and paste a table for each program your club is hosting or attending. An itemization table for each of the items needed is under the program table. Please add additional rows to the item table for events requiring multiple items. Note** gas is calculated at 55 cents per mile.
- 2. Explain the nature of the program/activity? How will students and/or the campus as a whole benefit by the funding of this proposal? How will the program/activity be advertised to all students? Who is the targeted audience? Please be as specific as possible.
- 3. Provide an invoice whenever possible in order to justify costs. For example, if your club needs a bus, provide an invoice from the bus company to support the request.

OCT 3 0 2017

BOB

STUDENT GOVERNMENT BUDGET COMMITTEE SEMESTER ALLOCATION REQUEST FORM

Program Name:	Chick-Fil-a Franchise owner speech		
Program Location:	CEED center (subject to change)		
Anticipated Number Of Attendees:	20		
Total Funds Requested For Program:	\$109.00		
Is This Program Open To The Campus?	Yes		
Amount Of Funding From Other Sources:	N/A		

Program Description: the owner of a local Chick-fil-a will come to Berks and give a speech to students about his experience in opening and running his business. A large part of his allotted time with us will be dedicated to a Q&A. Food will be provided for attendees

Please list the materials, prices, and item location for the requested event amount below:

Item Name	Unit Price	Quantity	Item Total	Location
Cheese pizza	\$11.00	5	\$55.00	Food services
Brownie platter	\$10.00	1	\$10.00	Food Services
Pitchers of lemonade	\$7.50	4	\$30.00	Food Services
Cookie platter	\$6.00	1	\$6.00	Food Services
9.5" plates	\$1.50 (per 10)	4	\$6.00 0	Food Services
Napkins	\$.25 (per 10)	8	\$2,000 0	Food Services

Program Name:	3D Printing workshop
Program Location:	CEED center
Anticipated Number Of Attendees:	15
Total Funds Requested For Program:	\$142.00 \$ 145.47
Is This Program Open To The Campus?	Yes
Amount Of Funding From Other Sources:	N/A

Program Description: We will hold a workshop teaching the school about 3D printing and its uses. Attendees will have the opportunity to enter an idea for an innovative use of the 3D printer and some winning ideas will have their ideas printed and displayed to generate interest in 3D printing, creativity and innovation. Food will be provided for attendees.

Please list the materials, prices, and item location for the requested event amount below:

Item Name	Unit Price	Quantity	Item Total	Location
Material to print winning ideas	\$30 24.99	3	\$75	Amazon.com
Cheese pizza	\$11.00	3	\$33	Food services
Brownie platter	\$10.00 89	1	\$19.00 \$69.00	Food Services
Pitchers of lemonade	\$7.50	3	\$22.50	Food Services
Cookie platter	\$6.00	1	\$6.00	Food Services
9.5" plates	\$1.50 (per 10)	3	\$4.50 O	Food Services
Napkins	\$.25 (per 10)	4	\$1,00 0	Food Services

Przs. 124,90 v prima

Filet Styring an error over 111-in gent 110 Tue-big Disputing such Ansa in Alexa.

Barris on Filed | December America.

Only 19 feet in 1506 k - serfer 1906.
What is broken, On. 317 One within the 3 tods and down by Shipping at credict. New bold by an at 10 feet by Shipping at credict. New bold by an at 10 feet by Shipping at credict. New b

DE all Ejephanistich 2.2 apf Ejement unter Ejem Spring
 Spring NA MOD De Nieue Edersteil Von voord Sindel Hell Prakteit Spring bland bendeung derweld sonst einstelle Hell
 Spring Ejemen 3. Spring Ajaste Ejement unterstenden State begind GEGen)
 Spring Ejemen 5. Spring Ajaste Ejement unterstenden State begind GEGen)

Courses with sorter dates

Burgan sprogen. Creptate strayout, the Latter A state in our carpeter reports

Material - \$24.99 (+shipping)

Total \$145.47

STUDENT GOVERNMENT BUDGET COMMITTEE SEMESTER ALLOCATION REQUEST FORM

	Program Name:	Entrepreneurship Summit	Program Description: We have previously traveled up to University Park to attend
	Program Location:	University Park	Entrepreneurial events. We believe club members benefitted from these events by seeing
V	Anticipated Number Of	4	what other campuses were doing in regards to
	Attendees:		entrepreneurship. This is also a great
. /	Total Funds Requested /	['\$77]	networking opportunity for those who
~~	For Program:		participate.
	Is This Program Open	Yes	
4	To The Campus?		
,	Amount Of Funding	N/A	
/	From Other Sources:		

Please list the materials, prices, and item location for the requested event amount below:

Item Name	Unit Price	Quantity	Item Total	Location
Fuel Reimbursement	\$0.53	143	\$76.51 ~ \$77	Wawa
per mile				

of Include route next time to

	~ { 14.	the property of the second of
Program Name:	Other Guest Speaker Events	Program Description: We regularly have guest speakers come and talk to the members of the
Program Location:	CEED center	club as well as other students who are interested in attending. Guest speakers tell their
Anticipated Number Of Attendees:	15	story on how they got into the field they are in, and tell personal and professional details about
Total Funds Requested For Program:	\$754 \$143,00)	their entrepreneurial experiences.
Is This Program Open To The Campus?	Yes	
Amount Of Funding From Other Sources:	N/A	

Please list the materials, prices, and item location for the requested event amount below:

Item Name	Unit Price	Quantity	Item Total	Location
Cheese pizza	\$11.00	6	\$66	Food services
Brownie platter	\$10.00	2	\$20.00	Food Services
Pitchers of lemonade	\$7.50	6	\$45.00	Food Services
Cookie platter	\$6,00	2	\$12,00	Food Services
9.5" plates	\$1.50 (per 10)	6/	\$9,00 0	Food Services
Napkins	\$.25 (per 10)	/8	\$2.90 0	Food Services
		(•	

No documentation

STUDENT GOVERNMENT BUDGET COMMITTEE SEMESTER ALLOCATION REQUEST FORM

Program Name:	Promotional T-Shirts	Program Description: Promotional (customized) T-shirts will be able to help us
Program Location:	Penn State Berks	grow by exposing the club around campus in a simple, cost effective way. The T-shirts will be
Anticipated Number Of Attendees:	10	provided by a local entrepreneur who has created many successful startups over recent
Total Funds Requested For Program:	\$200 \$0.00	years, which will also encourage an entrepreneurial mindset.
Is This Program Open To The Campus?	Yes	
Amount Of Funding From Other Sources:	N/A	·

Please list the materials, prices, and item location for the requested event amount below:

	Item Name	Unit Price	Quantity	Item Total	Location
ĺ	Club T-shirt	\$20.00	10	\$200	Good Vibe Tees

o Dannentation!

Program Name:	3D Printing Materials (PLA, various colors)
Program Location:	CEED center
Anticipated Number Of Attendees:	15
Total Funds Requested For Program:	\$250.00 200
Is This Program Open To The Campus?	N/A
Amount Of Funding From Other Sources:	N/A

Program Description: One of the most important attributes of the Entrepreurship club is our 3D printers. We currently do not have much filament, so being able to have this in stock would allow us to print more, thus encouraging club collaboration and promoting the club itself. If approved, we do not expect to Mave to purchase more filament for several semesters.

Please list the materials, prices, and item location for the requested event amount below:

(I	rouse me mucerans, pri	oos, and room room	CAUAL AUX MID I Dequebled	9 4110 WILLO WILL O 4 X O 11 1	
\circ	Item Name	Unit Price	Quantity	Item Total	Location
. Program =	Material to print	\$25	10	\$250	Amazon.com
notlopen	winning ideas	\$ 22.99		\$ 229.90	
	inpus, therefore	MAURION SD PLA-1KG 1.75 kg Spool, 1.75 mm, Black 统文法元 · Per Lauben Haven 1. Double Lauben Haven 1. Double Lauben Haven 1.5 mm; His Cacypy on only a new 1.2 mm; In State Rent in Sources Del. J II Chair shim 1 in Say to be well have by the sources. extend (n. 1.32 februaries extend	I-BLK PLA 3D Printer Filament, Dimensional A U stoned controls SNITECTIVE Day Shipping buth Arabon Firms	CCUracy - Gros mm. 1 Material -	\$22.99 (+shipping)
		1 KG tapproductely 2.20 Part Special	he are to both and		